
Fall  
    Protec 
 tion 
   Range

Product Range Catalogue 2022



2

Universal End Anchor  
System end termination access strop attachment, start and stop
Code: FP-A-UA 
Item No: 1501189

S2 High Load Module 
M10 stud, silver washer 
Code: FP-A-HLA 
Item No: 1520732

S2 Intermediate Load Module 
M12 stud, red washer 
Code: FP-A-IPA 
Item No: 1520733

S2 Flat Top High Load Module 
M10 stud, silver washer 
Code: FP-FTA-HLA 
Item No: 1525902

S2 Flat Top Intermediate Load Module 
M12 stud, red washer 
Code: FP-FTA-IPA  
Item No: 1525903

Multi-hole Base Plate uncoated 
Code: FP-BP-MH 
Item No: 1665988

Multi-hole Base Plate PVC coated 
Code: FP-BP-MH-PVC 
Item No: 1665989

Product Range

Multi-hole Base Plate Rivet (C/W Sealing Pads) 
Code: FP-BP-MH-RIV 
Item No: 1665991



3

Female and Male Rings 
Female M12
Code: FP-FR-M12 
Item No: 1501228 

Male M12 
Code: FP-MR-M12 
Item No: 1501226

2 Hole Plate
Code: FP-CP-2H-M10/M12 
Item No: 1501201

3 Hole Plate 
Support crossing of lines and 2 end terminations
Code: FP-CP-3H 
Item No: 1501202

Combined Line Tensioner with Indicator  
Line tensioner complete with tension indicator
Code: FP-LT-D 
Item No: 1501205

Line Tensioner 
Line tensioner only for dual tensioned lines
Code: FP-LT  
Item No: 1501206

Female and Male Rings
Female M10 
Code: FP-FR-M10 
Item No: 1501227 
 
 
 
 
Male M10 
Code: FP-MR-M10 
Item No: 1501225

Special 2 Hole Plate
Code: FP-CP-2H-M12/M12 
Item No: 1536193

Three Hole Corner 
For starting and finishing on one post  
Code: FP-CP-90 
Item No: 1501203



4

Horizontal Intermediate Bracket
Code: FP-IB 
Item No: 1501210

Adjustable Corner Kit  
M12 centre hole, accommodates multiple angles 
Code: FP-CK-ADJ 
Item No: 1501223

Solid 90 Degree Corner 
M10 centre hole 
Code: FP-CK-90 
Item No: 1501222

Toggle Fork 
System end termination 
Code: FP-AC-TF 
Item No: 1520785

Swage Joint Sleeve 
For wire joining 
Code: FP-AC-CJ 
Item No: 1501252

Strop End Eye 
For end of access strop attachment 
Code: FP-AC-EY 
Item No: 1501249

Variable Intermediate Bracket 
Code: FP-IB-V 
Item No: 1592413

Single Point Swivel Anchor 
For single point anchors to posts, walls and structures 
Code: FP-AC-SW | Item No: 1592407 
Code: FP-AC-SW-AB | Item No: 1646455 (C/W M10 Fastener) 
Code: FP-AC-SWPP | Item No: 1624052 (C/W M10 Fasterner & 
Karabiner)



5

Weathering Cowl - Flat Top Load Module
Code: FP-FTA-WC 
Item No: 1664909

Base Plate Extension Leg 
Code: FP-BP-LS 
Item No: 1674339

Base Plate KS1000 Zip Extension Leg 
Code: FP-BS-KZ 
Item No: 1674374

Foil Faced Base Plate Gasket 
Code: FP-BP-GS 
Item No: 1676193

Security Tag 
Code: FP-TS-SS 
Item No: 1647059

Swage Slip Indicator 
Code: FP-AC-SSI 
Item No: 1591640

Wire 8mm - 7x7 
Code: FP-AC-C-8 
Item No: 1501253

Slyder Horizontal Travelling Device 
Allows user to traverse full system without needing to disconnect 
and can be sued on any multi-span system 
Code: FP-PP-LA  
Item No: 1501268



6

Fastener Location Tool
Code: FP-CT-FT 
Item No: 1695039

Membrane Cut Out Tool 
Code: FP-CT-MT 
Item No: 1695040

Karabiner 
Code: FP-AC-K 
Item No: 1555101

S5-E Clamp 
Code: FP-AC-EC 
Item No: 1536305

Soter™ Seam Clamps  
Attachment for rolled standing seam profiles 
Code: FP-AC-SA 
Item No: 1501170

S5-U Clamp 
Attachment for folded seam roofs 
Code: FP-AC-255 
Item No: 1501167

S5-Z Clamp 
Attachment for rolled standing seam profiles 
Code: FP-AC-SC-M10 
Item No: 1501169

Rivertherm Base Clips 
4x2 pc clip set fixing on rivertherm / klak 
Code: FP-AC-RC 
Item No: 1501166



7

Euroseam EC Zip Seam Clamp 
Code: FP-AC-ECZIP 
Item No: 1676196

Single Toggle Cup 
Code: FP-AC-TC 
Item No: 1549550

Vieo Seam Clamp  
Code: FP-AC-VIEO 
Item No: 1665245

System Tag Holder 
Code: FP-TH-WHT 
Item No: 1644867

Gravity Toggle Bolt 
Code: FP-AC-TB-150/S2 
Item No: 1640547 
Code: FP-AC-TB-300/S2 
Item No: 1640551 
Code: FP-AC-TB-500/S2 
Item No: 1640552

System Tag 
Code: FP-TS-EN 
Item No: 1501293

Rivets 
Code: FP-AC-8RIV 
Item No: 1641588

GTW Sleeve 60mm - 330mm 
Code: GWT-060 | Item No: 1411935 
Code: GWT-080 | Item No: 1411936 
Code: GWT-120 | Item No: 1411939 
Code: GWT-150 | Item No: 1411940 
Code: GWT-180 | Item No: 1411941 
Code: GWT-240 | Item No: 1411943 
Code: GWT-330 | Item No: 1411946 



8

BS Fastener 60mm - 200mm
Code: BS-61060-30  | Item No: 1413119
Code: BS-61080-30  | Item No: 1411771 
Code: BS-61100-30  | Item No: 1413120 
Code: BS-61120-30  | Item No: 1413121 
Code: BS-61140-30  | Item No: 1413122 
Code: BS-61160-30  | Item No: 1413123 
Code: BS-61180-30  | Item No: 1413124 
Code: BS-61200-30  | Item No: 1413125  

LBS Fastener 60mm - 140mm
Code: LBS-60060  | Item No: 1413097
Code: LBS-60070  | Item No: 1413098 
Code: LBS-60080  | Item No: 1413099 
Code: LBS-60100  | Item No: 1413101 
Code: LBS-60120  | Item No: 1413103 
Code: LBS-60140  | Item No: 1413105

Vinylester Resin 360 
Code: FP-AC-R-360 
Item No: 1543686

LBS Fastener 160mm - 240mm
Code: LBS-60160  | Item No: 1413106
Code: LBS-60180  | Item No: 1413107 
Code: LBS-60200  | Item No: 1413108 
Code: LBS-60220  | Item No: 1413109 
Code: LBS-60240  | Item No: 1413110

ACS Fastener 80mm - 180mm
Code: ACS-SCREW-6,1X80  | Item No: 1322197
Code: ACS-SCREW-6,1X100  | Item No: 1322198 
Code: ACS-SCREW-6,1X150  | Item No: 1322199 
Code: ACS-SCREW-6,1X180  | Item No: 1322200

Multi-Monti A4 Bi-Metallic 80mm - 160mm
Code: MMS-PLUS 80mm  | Item No: 1205117 
Code: MMS-PLUS 90mm  | Item No: 1205112
Code: MMS-PLUS  100mm | Item No: 1205146
Code: MMS-PLUS  120mm | Item No: 1205147
Code: MMS-PLUS  140mm | Item No: 1205115
Code: MMS-PLUS  160mm | Item No: 1205116

Highfix Support 
Code: FP-PV-SS  
Item No: 1670502

PV Mounting Plate 
Code: FP-PV-PLT 
Item No: 1705400



9

PV Mounting Plate - PVC 
Code: FP-PV-PLT-PVC 
Item No: 1705403

High Tension System Shock Absorber (5kn) 
Code: FP-SA-HT 
Item No: 1618716

Overhead Wall Mounted System Traveller Device 
For systems of straight runs, without corners. 
Code: FP-OS-TD 
Item No: 1501245

Wire 8mm - 1X19
Code: FP-AC-C-1198 
Item No: 1555100

Heavy Duty Shark Fin
Code: FP-A-SF 
Item No: 1543658

Low Tension System Shock Absorber (0.8kn) 
Code: FP-SA-LT 
Item No: 1625565

Intermediate Bracket Overhead & Wall Mounted
Code: FP-OS-FIB 
Item No: 1694614

Overhead & Wall Mounted Corner Tube
Code: FP-OS-CT 
Item No: 1744104



10

Standard Mounting Bracket Vertical Systems 
Code: FP-VS-LL 
Item No: 1501230

High Tension System Combined Line Tensioner
Code: FP-OS-LT 
Item No: 1501248

Extended Mounting Bracket Vertical Systems
Code: FP-VS-UL 
Item No: 1501229

Hole Saw Arbour 
Code: FP-HSA-A1 
Item No: 1501264

305mm Extension For Arbour 
Code: FP-EX-AB 
Item No: 1501265

25mm Hole Saw 
Code: H5-25MM 
Item No: 1536135

Vertical System Traveller Device 
Code: FP-VS-AT 
Item No: 1501242

U-Bolt For Large Ladder Rungs 
Code: FP-UB-SU 
Item No: 1640553



11

Spanner 17mm & 19mm 
Code: FP-SP-17MM  | Item No: 1501266
Code: FP-SP-19MM  | Item No: 1501267

Lower Blade For HTC-TC026 
Code: FP-HT-LB 
Item No: 1576406

Upper Blade For HTC-TC026 
Code: FP-HT-UB 
Item No: 1576408

Battery Riveter Powerbird Pro Gold 
Code: PowerBird® Pro 
Item No: 1457636

Spare Battery Powerbird Pro Gold
Code: BATTERY 18.5v/2.1 AH 
Item No: 1457641

Nose Tip For Large Bulbtite
Code: Nosepiece 17/48 Bulbtite 
Item No: 1434989

Small Jaws For Large Bulbtite
Code: JAW FOR BULB-TITE AND MGRIP RIVETS 
Item No: 1434173

ZVK-5.0x45 x80 STOP 
Code: ZVK-5x45x80STOP 
Item No: 1466148



12

ZAK Extension Bar 14-500
Code: ZAK 14-500 
Item No: 1316641

ZA 1/4 M6 X 300mm 
Code: ZA1/4”-M6-300 
Item No: 1379406

Die Set To Suit HT 131 Swaging Tool 
Code: FP-HT-DS 
Item No: 1501256

Hydraulic Wire Cutter HT-TC 026 
Code: 
Item No: 1501257

TX T25W Extended Bit 
Code: T25W-175-SW¼” 
Item No: 727979

T25-32-M6 Insert Bit 
Code: T25-32-M6-RING 
Item No: 1624806

600mm Strap Wrench 
Code: FP-SW-600MM 
Item No: 1571742

Hydraulic HT131 Swaging Tool 
Code:  
Item No: 1501255



13

ZA 1/4 M6 X 750mm 
Code: ZA1/4”-M6-750 
Item No: 1379407

ZVK-14-5.0x100x135
Code: ZVK-5x100/135 
Item No: 1466150

Rope & Grab 10m - 20m
Code: FP-PP-RPG10  | Item No: 1582598
Code: FP-PP-RPG20  | Item No: 1582599
Code: FP-PP-RPG30  | Item No: 1582600

SDS 5x360/300 
Code: SDS-5X360/300-SP 
Item No: 1408063

Budget Full Body Safety Harness
Code:  
Item No: 1536322

Full Body Safety Harness
Code:  
Item No: 1501269

Rope 5m - 30m
Code: FP-PP-RP-5M  | Item No: 1501276
Code: FP-PP-RP-10M  | Item No: 1501277 
Code: FP-PP-RP-15M  | Item No: 1501278 
Code: FP-PP-RP-20M  | Item No: 1501279 
Code: FP-PP-RP-30M  | Item No: 1501280

Rope Grab Device
Code: FP-PP-RG  
Item No: 1501297



14

Shock Absorbing Lanyard 1.5m - 2m 
Code: FP-PP-LY-SA-1.5M1L  | Item No: 1677217
Code: FP-PP-LY-SA-2M1L  | Item No: 1501271

Twin Leg Shock Absorbing Lanyard 1.5m - 2m
Code: FP-PP-LY-SA-1.5M2L  | Item No: 1501270
Code: FP-PP-LY-SA-2M2L  | Item No: 1677218

Arrest Block Wire 3.5m - 7m
Code: FP-PP-AB-3.5m  | Item No: 1591632
Code: FP-PP-AB-7m  | Item No: 1591634

Arrest Block Webbing 2m - 12m
Code: FP-PP-AB-2M  | Item No: 1591631
Code: FP-PP-AB-12M  | Item No: 1591637

Restraint Lanyard, 1.85 m 
Code: FP-PP-LY-RT-1.85M 
Item No: 1501273

Adjustable Restraint, 1.5 m 
Code: FP-PP-LY-RT-ADJ 
Item No: 1501275

Twin Leg Restraint, 2 m 
Code: FP-PP-LY-RT-2M2L 
Item No: 1501274

Restraint Lanyard, 1m 
Code: FP-PP-LY-RT-1M 
Item No: 1501272



15

Twin Leg Shock-absorbing Lanyard, 2 m  
Code: FP-PP-LY-SA-2M2L 
Item No: 1501270

Single Leg Shock-absorbing Lanyard, 2 m  
Code: FP-PP-LY-SA-2M1L 
Item No: 1501271

PPE Kit Bag
Code: FP-PP-KB 
Item No: 1501292



SFS Group Fastening Technology Ltd.
Division Construction
153 Kirkstall Road
Leeds, LS4 2AT
ukenquiries@sfs.com
uk.sfs.com ©

 S
FS

 G
ro

up
 F

as
te

ni
ng

 T
ec

hn
ol

og
y 

Lt
d.

, C
-F

P,
01

/2
01

9,
 U

K
A

ll 
in

fo
rm

at
io

n 
is

 n
on

-b
in

di
ng

 a
nd

 w
ith

ou
t 

gu
ar

an
te

e.
 C

-F
P_

G
B

 0
1/

20
22

.


